Add a three-digit number and ones (mentally)

Isiah has 116 toy cars. For his birthday, he gets another 3.
How many toy cars does Isiah have now?

e Sarah collects stamps. She has 250 and then gets 9 more. How many does
she have now?

e There are 105 boys and 7 girls in the football tournament. How many
children are in the football tournament altogether?

o Kyle's football team have scored 123 goals so far this season. In the next
two matches, they score 4 goals and 7 goals. How many goals have they
scored altogether?

6 On Saturday, a takeaway sold 134 poppadoms. Kyle then bought 5 and
Isiah bought another 7. How many poppadoms have been sold now?

o There are 117 grapes, 8 oranges, 9 bananas and 5 melons left in the fruit
shop at the end of the day. How many pieces of fruit are left altogether?
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Add a three-digit number and tens (mentally)

o Sarah can skip 122 times with her skipping rope without stopping. Jessica
can skip 20 more times than Sarah without stopping. How many times can
Jessica skip?

Humma and Sarah go swimming every day for a week. Humma swims 114
lengths and Sarah swims 30 lengths. How many lengths do they swim
altogether?

e In the fruit shop, there are 190 apples and 20 pineapples. How many
apples and pineapples are there altogether?

o There are 17 children on the school bus. At the first stop, 20 children
get on and, at the second stop, another 10 children get on. How many
children are on the bus now?

e Sarah was baking for a charity sale. She baked 123 chocolate biscuits, 80

plain biscuits and 40 cupcakes. How many biscuits and cakes did Sarah
bake altogether?




Add and subtract a three-digit number and hundreds
(mentally)

Between 9 am and 5 pm a café sold 200 cups of coffee and 145 cups of tea.
How many drinks did they sell altogether?

o There are 328 sweets in a tub. Humma and Isiah eat 200 of the sweets.
How many sweets are left?

e Siddiq and his grandad are making a cake. They start by putting 175 g
of sugar and 300 g of butter into a bowl. How many grams of sugar and
butter are in the bowl?

o Sarah is making necklaces. She has 762 beads. She uses 100 beads to
make a necklace for her mum and 300 beads to make a necklace for her
sister. How many beads does she have left?

6 Kyle has 756 trading cards. Isiah has 300 cards and Jessica has 100.
How many more trading cards does Kyle have than Isiah and Jessica
put together?




